Multipole population coefficients

atom P, Poo Py, P, Pyo

O(1) | 6.28(4) | 0.00( 0) | -0.10( 1) | -0.08( 1) | 0.07( D)
0(2) |6.23(3) | 0.00(0) | -0.08( 1) | 0.07(1) | 0.07( 1)
0(3) | 6.20(2) | 0.00( 0) | -0.06( 1) | 0.00(1) | 0.01( 1)
0(4) | 6.20(0) | 0.00(0) | -0.06( 0) | 0.00(0) | 0.01( 0)
N(1) | 5.29(5) | 0.00( 0) | -0.05(1) | 0.07(1) | 0.03( 1)

C(1) | 4.06( 3) | 0.00( 0) | -0.02( 2) | 0.05( 1) | -0.07( 2)
C(2) | 3.92(3) | 0.00(0) | -0.01( 1) | 0.10(2) | 0.05( 1)
3) | 4.06(2) | 0.00(0) |-0.04(1) | 0.00(1) |-0.02(1)
4) | 3.89(3) | 0.00(0) | 0.05(1) | 0.15(1) | -0.01(2)
5 | 4.06( 0) | 0.00( 0) | -0.04( 0) | 0.00( 0) | -0.02( 0)
6) | 4.06(0) | 0.00( 0) | -0.04( 0) | 0.00( 0) | -0.02( 0)
7) | 3.93(4) | 0.00(0) | 0.14(1) | 0.01( 1) | -0.03( 2)
C(8) | 4.33(4) | 0.00( 0) | 0.04(2) | 0.04(1) | 0.07( 1)
H(1) | 1.01(3) | 0.00( 0) | 0.38( 2) | -0.05(2) | -0.16( 2)
H(3) | 0.75(1) | 0.00(0) | 0.18(1) | 0.00(0) | 0.00( 0)
H(5) | 0.75(0) | 0.00( 0) | 0.18( 0) | 0.00( 0) | 0.00( 0)
H(6) | 0.75(0) | 0.00( 0) | 0.18( 0) | 0.00( 0) | 0.00( 0)
H(8A) | 0.74( 1) | 0.00( 0) | 0.11( 1) | 0.00( 0) | 0.00( 0)
H($B) | 0.74( 0) | 0.00( 0) | 0.11( 0) | 0.00( 0) | 0.00( 0)
H(8C) | 0.74( 0) | 0.00( 0) | 0.11( 0) | 0.00( 0) | 0.00( 0)

atom P Py Py Psy Py_»

O(1) | 0.05(1) |-0.05(1) | 0.02(1) | 0.02( 1) | 0.04( 1)
0(2) | -0.13(1) | 0.05(1) | 0.05(1) | -0.12( 1) | -0.01( 1)
0(3) | -0.08(1) | -0.01( 1) | 0.00(1) | -0.13( 1) | 0.00( 1)
O(4) | -0.08( 0) | -0.01( 0) | 0.00( 0) | -0.13( 0) | 0.00( 0)
N(1) | -0.24( 1) | -0.07( 1) | 0.03(1) | 0.04( 1) | -0.01( 1)
C(1) | -0.20(1) | 0.01(1) | 0.00(1) | -0.05(1) | 0.01( 1)
C(2) |-0.10(1) | 0.05(1) | 0.00(1) | 0.01(1) | 0.00(1)
C(3) | -0.20( 1) | -0.02( 1) | 0.01(1) | 0.01( 1) | -0.01( 1)
C(4) | -0.08(1) | 0.06(1) | -0.03(1) | 0.03(1) | -0.15( 1)
C(5) | -0.20(0) | -0.02( 0) | 0.01( 0) | 0.01( 0) | -0.01( 0)
C(6) | -0.20( 0) | -0.02( 0) | 0.01(0) | 0.01( 0) | -0.01( 0)
C(7) | -0.35(1) | 0.06(1) | -0.05(1) | 0.06(1) | 0.03( 1)
C(8) | -0.02(1) | 0.01( 1) | -0.06( 1) | -0.04( 1) | -0.02( 1)
H(1) | -0.14( 3) | -0.05(3) | 0.08(3) | 0.23(3) | -0.02( 3)




atom Psg Ps; P3_; Ps» Ps_» P33 P33

O() | 0.04(1) | -0.05(1) | 0.01(1) | 0.01(1) | 0.00( 1) | 0.08( 1) | -0.06( 1)

0(2) | -0.02(1) | 0.02(1) | 0.01(1) | 0.03(1) | -0.02(1) | 0.06( 1) | -0.04( 1)

0@3) | 0.00(1) |-0.01(1) | -0.01(1) | -0.01( 1) | 0.02(1) | 0.03( 1) | 0.00( 1)

O(4) | 0.00(0) | -0.01( 0) | -0.01( 0) | -0.01( 0) | 0.02( 0) | 0.03( 0) | 0.00( 0)

N(1) | -0.02(2) | 0.05(2) | 0.06(2) | -0.03(2) | 0.03(1) | 0.46( 2) | 0.04( 2)

C(1) | -0.07(2) | -0.09(2) | 0.03(2) | 0.01(2) | 0.04(2) | 0.38(2) | -0.05( 2)

C2) | 0.02(2) | 0.07(2) | -0.01(2) | 0.01(2) | -0.04(2) | 0.29( 2) | -0.02( 2)

C(3) | 0.02(1) | -0.01(1) | 0.03(1) |-0.02(1) | 0.01(1) | 0.32(1) | -0.01( 1)

C4) | -0.01(2) | -0.04(2) | 0.04(2) | 0.03(2) | -0.01(2) | 0.28(2) | 0.01( 2)

C(5) | 0.02(0) | -0.01(0) | 0.03(0) | -0.02(0) | 0.01(0) | 0.32(0) | -0.01( 0)

C(6) | 0.02(0) | -0.01(0) | 0.03(0) | -0.02(0) | 0.01(0) | 0.32( 0) | -0.01( 0)

C(7) |-0.03(2) | 0.01(2) | -0.02(2) | -0.03(2) | 0.01(2) | 0.43(2) | 0.02( 2)

C(8) | -0.07(2) | -0.08(2) | -0.23(2) | 0.03(2) | 0.01(2) | 0.28(2) | -0.05( 2)

atom Pyo Py Py Py Py_» Py3 Py_3 Py Py
N(1) | 0.11( 2) | -0.01( 2) | -0.03( 2) | -0.04( 2) | -0.04( 2) | -0.06( 2) | 0.07( 2) | 0.02( 2) | -0.04( 2)




